Assembly Instructions

36100,36120 Vue L
36200,36220 Vue

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

sted

Hardware

#10 x 0.625 Wood Screw #8 x 0.625 Wood Screw

1/420x0.5

#10 x 1.75 Wood Screw

M6 x 1.0mm x 10mmL M6 x 1.0mm x 16mmL 1/420x1.375
1/4 20 Snap Fastener 1/420x0.75 1/4 20 Keps Nut 10-32 Keps Nut
Tools N M
H\ﬁ \‘L ‘.“l
2 f=
i 1]
| | J
Screwdriver/Drill #2 Phillips #3 Phillips
(=) =} o
= o @
36002 36003

36036/36040

36038736042

Work surface

32213/32215

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

36020/36026 36008 36023/36024

36004 36005 32087

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

B

M6

®

1.0mm x 16mmL

X
#3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



t d Assembly Instructions
For 36100 @

M6 x 1.0mm x 16mmL

o

#3 Phillips

For 36100

#3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

>

=
—
=
= 1/420x05

#3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



t d Assembly Instructions
For 36120,36220 @

36036/36040

T
#10 x 0.625 O 1/420x0.5
> Wood Screw —
= x 18 for ,X 18 for
- Laminate Surface &=  Compact Laminate
S Surface

O «

#2 Phillips c #3 Phillips
For 36120,36220 @

#10 x 0.625
=7 Wood Screw 1/420x0.5
x 18 for OR x 18 for
Laminate Surface Compact Laminate
Surface

#2 Phillips 0 #3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



t d Assembly Instructions

For 36100,36200 @

#10 x 0.625

= Wood Screw ik 1/420x 0.5
= =
= Laminate Surface = or
7 g Compact Laminate
Surface
c #2 Phillips c #3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



sted

Assembly Instructions

x4 for
‘ Laminate Surface

#2 Phillips

#8 x 0.625 Wood Screw

OR

Laminate Surface

#2 Phillips

3 R
B
OR
X2
#10 x 1.75 Wood Screw
for for

Compact Laminate

Surface

#2 Phillips

8-32x0.5
X4 for

Compact Laminate Surface

#3 Phillips

32213/32215

#3 Phillips

J

x8

1/420x1.375

1/4 20 x .75 Washer|

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

#3 Phillips

for for

9990930803900%5
#10 x 0.625 g T
sty el gk 1/420x0.5
OR % x2

Laminate Surface Compact Laminate Surface

#2 Phillips #3 Phillips

Jx2

#2 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



t d Assembly Instructions

foiep T 1
. JL
T

o)
L L)

[{/]

N
Z)

I/

71

N
/)

SEPES
/A

4

I/1

P 6
M

4

g

AL
Y ' R
NG

10-32 x.05

x2
#2 Phillips

[0 & = NS0l
SEE— L
L A, For 36100
0 0 9
0 M @ ?
=
s )
For 36120, 0 9 0 L
36200, 36220 % 2’ S Lo
aiafiic

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

10-32 x.05

x8

#2 Phillips

_ 36023/36024

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



sted Assembly Instructions

#3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com





